
M.A. Part I Examination,2020(DDE)
Subject : History

Paper: II

( Emergence of Industrial Societies from 1740s till the First world

War:U.K.,France,Germany,Russia,Japan)
Time: 2 Hours Full Marks : 40

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words

as far as practicable.
1st half

��঎ ��঎

1. Answer any one of the followings. 15x1 =15

�Ă�����Ċ �Ē���þ ��঎⿏ �� ��঎Ă ��঎þ ��þ �঎঎⿏

(a) Define ‘proto-industrialisation’. Do you think that proto-industrialisation facilitated

the transition to industrial capitalism?

��঎��঎- �ċ�঎��Ăþ �荰ۧ঎ �঎঎⿏ ��঎��঎- �ċ�঎�ĉ �ċ�ɤ�ă�Ĕ�঎�� ���঎þ�ĉþ ɤ� �ċۧ ��þ�㸀�

��� �� Ċ� �� ��Ă �þ?

(b) Analyse the main features of Rostow’s model of economic growth. What are the

drawbacks of the model?

þ��঎þ ���ÿ� ���঎ċ �˘�ȴ� ��䁋��þ �荰� ���ċ�⿏��� ���ʟ�ĉ �þ⿏��䁋�঎þ �ȴ�঎�đĊ঎���

�ȴ �ȴ?

2. Answer any one of the followings. 5x1 =5

�Ă�����Ċ �Ē���þ ��঎⿏ �� ��঎Ă ��঎þ ��þ �঎঎⿏

(a) Discuss, in brief, the Marxist model of economic growth.

���ÿ� ���঎�ċ �঎�ÿ �ȴ� ��䁋�঎ �� ɤ�þ��þ ���঎�Ă঎ �þ⿏

(b) Write a short note on the Enclosure movement in England.

�荰�⿏঎�� ���Ăȴ ���঎��Ăþ ঎ɤ�þ ��঎ ��঎ ���⿏

(P.T.O)



2nd half

�ʸ�þ� ��঎

1. Answer any one of the followings. 15x1 =15

�Ă�����Ċ �Ē���þ ��঎⿏ �� ��঎Ă ��঎þ ��þ �঎঎⿏

(a)How does E.P.Thomson assess the standard of living of the British labour class?

�.�ɤ.���Ă �ȴ䁧঎�� ��঎ċ ������ĉȴþ Ĕȴ�Ă�঎�঎þ �঎�Ăþ �荰�⿏঎�ĉ ��þ�㸀Ă?

(b)How was the economy in Meiji Japan organised?

���Ĕȴ Ĕ঎ɤ঎�Ă ��ÿĂȴ�Ċ �ȴ䁧঎�� �荰�ñĊ ����㸀�?

2. Answer any one of the followings. 5x1 =5

�Ă�����Ċ �Ē���þ ��঎⿏ �� ��঎Ă ��঎þ ��þ �঎঎⿏

(a) What role did the banks play in German industrialization?

Ĕ঎�ÿ঎Ăȴþ �ċ�঎��ĉ �⿏঎đ��� �ȴ 䁧荰 ���঎ ɤ঎�Ă ��þ�㸀�?

(b)Did the Emancipation Edict(1861) hasted the course of Russian industrialization?

�঎�ÿ ��þ ���Ēþ �ò঎�ĉ঎ɤ�(��঎�) �ȴ þ঎�ċ�঎þ �ċ�঎��ĉþ ����঎�� �þ঎��Ċ ��þ�㸀�?
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